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Which of the following mel

al melis even when
keptonap

Alm due 1o its low melting poim?
Choose the mayy approprinte answer

: : from the
oprons given below:

urukut

4

2l)

dild

(A N |“$"_"'351 umeo(B) Mercury
(€Y Calcium (D) Gallium
(E)  Question noy atlempred
R e —
AR TUET o Y ;t ot F‘EH AT
B HaEtfirs sgam sar=
(A Areifiray (B) gmr ik
C) e (D) g
(B} arafeon ﬂ
2 Which of the following is the most ductile metnl?t
Choose the masy apprapriafe answer fram the
options given below: ¢
(A)  Silver . (B) Gold ]
(C)  Copper (D) Aluminium {
(E} Question not attempted 1
Pt & & 2o watfirs 7= R
Fr=fafan e 49 waffirs uge I i
(A) =i (B) ®m
(C) & (D) Ugfafes
(E) 3gafmws
3 Which of the following statements is incorrect? )
Choose the most appropriate answer from the
options given below:
(A) Sedium and potassium are soft metals and
they can be easily cut with o knife.
(B) lodine is a non-metal but it is lustrous.
(C)  Mercury is & metal which is liquid at reom
e r‘npcr:l'tu:rc.
(D)  Graphiteisa metal whichis a bad conductor |
of electrieity,
(E) Question not attempted
Fefefmr s as - s ama
Frerferfign Faeeedi & & At Foawm SO
(A) HifEEw of defran T uigd € eft v
ST B AT | T A" 8 X
(B) ETER UF AU § Of g Iade d
&
(C) T W T Uty & S FEl F awae 9 g
e # Eredi B
(D) T U T urg @ S e o e
ETT 81
(E) e wy
orQ-xiz)| [j p

i th jl..,mg;gg,]r Wi’l”ifc sanctuary I,r,:m
Where s the 14

in Itajasthan?

fufe answer [remm 1h=
appripre 2
¢ st df

Chaose th
oplions given helovw: '
r: ) Churu (B) Ajmer
(€) Bundi (n) Dholpur
: «slion not attenpted
L rmm;?mmmnmﬁ Frifem s
Eretfafom freefi 4 8 w#':rm:mgw-m =
(A) TIF () HIET
(c) T (D) HEE
(E) FAfAaa

Which of the following stalements is not correqy

about the Palash forest in Rajasthan?
Choose the most agpropriate answer from the

options given below:
These farests are spread in Alwar, Ajmer,

(A}
Sirohi, Udaipur, Pali and Chittorgarh
regions.

(B) These foresis are sub-types of tropical/dry
deciduous forests.

{C) These forests are spread in those areas
where the surface is stony and hard.

(D) These forests are found only in plateau
region of Rajasthan.

(E) Question not attempied

TSR 8§ U 7 F wed & fiy 6 @a s

wE A R

hﬁhﬁﬁﬁﬁﬁﬁmﬂhwmﬁ:

(A) Wﬂﬂﬂﬂ.mﬂrﬁf@,mmaﬂt
frdtems e 4y

(B) T = Iorrlidrages it @ &
FEIFTE

(C) 837 37 861 & & # ot e =90 T
qulie &1

(D) T8 T AT 35 ey vyt dvy & a7 €1

(E) a7qwfa wer
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Which of the following are the internal parasites

6 Which of the following :
1(‘_i]EIm.-=1 rainfall in R::;;::]i":fgmns recdives the | 9
wase the most appn;—prj;;;,. -, in farm animals?
oplions given below: answer from the a. Round-worms b Fleas
(A)  Napaur B ; i
c) = (I3 ~Bikancr c. Tapewarm d. [~-Mites
( Rajsamand D 3
(E)  Question not auim:\(\(.h“m © Cagcida f::!
TR ° B g 9 ¢ the mos jdte answer from he
S e 5 A i s | 1O e o P
Fr=firfias faet 3 @ mrarffors : options given below: ]
(A) =M (IZJL‘%TWEEL’EFHW?L (A) candconly 'S
LE‘I) Teahe o) D= (B) a,candeconly 4
) {I o _Cﬂa:-ﬂ'mna - (C) b,canddonly
i n Rapasthan on win R
i iaiag which rix c[::, the Gandhi Sagar | (D) a, banddonly -
Choose the mosr ; = (E) Question not attemlte % ; &
48 hclo::fﬂmﬂr(n{n answer from the I:J ﬁqﬁf@ﬁﬁﬁﬁ#&ﬁfﬁi@?ﬂ?aﬂﬂfﬁm
(A)  Chambal B J:}" ok .
\ .
() Saraswari {{D:]'. ’1;::::1 '.:-i a n‘mq?ﬁr b o-iﬁm
(E)  Question not attemple '\ * o -
T & i T % c. ‘ﬁI-?IT‘tfﬁ d. p;%ﬁ:ﬂm
Ffeias el § § sugwmamcat: | Ty o AT o )
(A) =S B) er q 3y fir T FeeredT  § watfire IAg S0 4
(C) |G=dl (D) == g LA c3te
(E) W&Hﬂﬂ (B) e T P
, 5 , Jo— a,c e :
8 Accordmg 10 the NationalZResearch Centre for - (c) F=ab it 4
Camels, in the camel heallh and management = e d D
calendar, which of the fgllpwing activities is (D) Faeta, b3 d td
proposed for the month of August? (E) Tgaiaws o
Choose the most appropriote answer from the [pe— C“}
options given below: 3 o :
(A) Soil management [ sheltees and :I'he common drug for the t%;tmemofcoccidiosis
nun:nbcl.'ing r:lfcam!:ls%}r identification. in cattle is: :
(B) Z!hmr }nrlnmmg, vac;:iiation and spray of [pessss Choose the most appropriate answer [rom the
emicals. — . . P,
(C) Investigation of gamel sample for :-—* zzl;on;gwen el 2'1-4
endoparasites rypangspme. — ki
(D) Vaccination and n{e{iication for killing | pes (B) Chloroquine {-C\ljl
cndop.arasues. ) (C) Gentamycin |
(E) Question nol attempjec 5 . By K ) &
Se AT 75 & A | % wmre it (D) Kanamycin ﬁl
" o Aet 1 3T qg Prefafaa o @ (E) Question not attemp;p!]
e mfafaty gEEd Ji;?? wafir F s Tl
frefatad fas "ﬁ&naﬁﬁﬂianggggz ofrfir 2: w
(A) ATl 7 g HET gedr G0 )
) ki aim _ ﬁﬂﬁmmﬁﬁmmﬂﬁm;ﬁ:
(B}I WWEET{ {'ﬂTﬂ:lTﬂT”u'SailﬂF (A) w g =
(c) TeoeTEm 37 ferg Sz & T & (B) AR o
(D) = e wrfd & e Aaae 3i (© SremRE o
7= o (D) AR Q]
(E) Euf@uH g (E) vl v g _
orQ-xiz|] 3 '
O [ Contd...




W 1048, Wl Bevane the Clhlet Ndstor Wl iy

¥ GEREE R R ” Ciieaten Lo of Ranfrsthane
List-d Ll i"h-h‘“" e st apprepedite wnswer [y, tlyg
(T pe of Fort D) (N e ob B Dy ot sriven below:
” Mhanan D 1, Wi aipan iy "'\:" “:“ Whnshon U0 Sewn Wi
b Vi Py I Claiw Py ll;“. Vi bl Stk (00 Shobiu Ry
o A Fan N Sivama Vo Il]", Onesthon ot attenipted
. Pankh e IV, Danadier Vot "“;.!‘u ﬂ‘ajnqumﬂi-t LY [lla-illl'rﬂ ThET *T?I‘.’
FRELUR B A Rana AR Ruaitifiie Reted A 2 et T e
-1 et . A an o g
(R e vy AL EOE VT ekt (137 ¥t
v wERal Lo R VARSI
) rmg_li‘ o Dz s Ban SEUEE A
o Y L R R o ‘
4 whwT W, Qe P F'L? A osom ol TO1A00 s nn'vﬂh:tl o campoun|
Chowse the :.-m\-r appropriate answer T the |58 interest B 3 yveurs, 1rthe rte of interest for theee
OPtons given below: CTJ swvessive years e %, 8% il 5% per annum
st e me R ) wﬂﬁmwammu\ﬁz == respectively, then what will it amount (o?
B s T el st T T 8000 vl 3 At A fere st Ry wm
B) as b= caiV.del -\ e 0w 1 2R wvmaw 3wl 3 fere = o
€ asLbh-lle- ML dev e TEHRE: L0, 80w NS uRYd Y, oY v e i
DY a-IViballl eeilde m RLRUEIRETRAHIY
(B} Question not anempted agaliyn F A TarTn (T isp2e
12 Who mvelled through the villages of Rajinsthan l't\‘ b 1:4.11:1111 (9 T 18582
and started his series “Mein Deklita Chala Gy ™= ) Question not ttempted 2 drqalar v
based on the ruml lite amd soviety of Rajasthan? :J What i . o "
Choase the mast appropriote miswe v the : MU IS e snpound interest VIS EGSN tp )
: . PTCPRTR DM Bk e N monthsat 16% perannum compo led quarterly?
options given belows: o e B pritedyuarterly
(A) Jagiit Singh :.-) N LS628 T vens et Y v @ femd smur
(B Karpur Chand Kulish L_' :;Tﬁ“ W nrEn "”T'T!@( W o ik & fere R
(€) P Vishwa Mohan Whan —_— —
(DY Dr. PK. Sethi s (A) — LRI
(E)  Question il attempred Q ) X 1xal W S
famer rerem B il o R W ‘tﬁ"ﬂlm N B Question wa witempted / Il vy
A s oy s e e <A 1 Oncompound TIRIest o eertuin sum inereases by
ﬂm'ﬂgﬁm’ [TTRLT I', ¥ v “ ‘l-‘:-l Wi ~.‘1 st pher i'lﬂllll!'l‘l
Frerferfum freed) i & wwarifire g e g, e R ol
(A)_Surdia it v s s ARy a2 it 0280
I R A i) o wfor el span o) v
(©) 4 ey W) %
(D) SLAL W % M % 7
(1) IrgRa s ) Question not uuvmpm\fﬁlﬂﬂﬂ““" e
orQ-x12 | [j 4 | Contilis
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The monthly incomes af A and 11 are in the ratio
4:3 and their monthly expenses are in the mlio
3:2. If each saves T 800 per month, then what is
the sum of their monthly incomes?

A Cﬁaﬁ:ﬁm&waﬁaﬁmnd;jtm’naﬁ
:TIETEE?H-T[H‘-‘FH 3:2 ¥ iz vedw =i X 800
TIOSTE S9TA &, A1 359 oifas o s am AT e

(AY T 81,000 (1 T oa000
(Y ¥ 48000 (M T 56000
(E)  Question not attempted / AT WH

Which tpe of forests are regarded as most
valuable as far as the conservation of forest and
wildlife resources are concerned?

Choose the mast appropriaie answer from the

options given below:

(A} Reserved forests

{B) General forests

{C) Protecied forests

(D) Unclassed forests

(E) Question not anempted

ﬂm&ﬁaﬂﬂmﬁ%ﬁﬁﬁmm?ﬁ
=1 = T AT A €2
Fr=tarad ﬁﬁsﬁﬁiznﬁf&ﬁ@mgﬁ:

(A) sEE 33 (= i)

(B) =mEIEaEA

(C) TEa=A (HTZ3EE FIT2)

(D) FFaTiEa a4

(E) i@ T4

Sariska Wildlife Sanctuary is situated in:
(A) Kerala (B) Rajasthan
(C) West Bengal (D) Assam
(E) Question nol atempled

afcea g snranvy fead &:

(A) A (B) e A
(c) sEm@man (D) HEH q
(E) HIaf@ 94

orQ-x12] D
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Jremmien
el

-

1 “

. : 1 s
Which physiographic region of Rajasthat

n
Lnown ps the *Hadoti Matean’?
Choose the most appropriofe ARSWEE from the
options given helow:
(A)  South-Eastern Platenu region
(M Semi-And region
() Aravalli region
(D) Eastern Plain region
S (E) Question nol attemnpted ]
Qe e a e a7 grEydt & BT
- i ST ST 7
st Ferarei % s 397 3L
=\ Ay g v A
: () 3ndgren @
W () e &=
vl (D) g AT &
aw (E) 3¥aftd ¥4

The *Plain of Chhopan® is located in which of the
following physiographic regions of Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Eastemn Plain recion
(B) Woestern Desert region
(C) Aravalli region

South-Eastern Plateau region

(E) Question not attempted

‘wmﬂm'mmﬁaﬁmi‘aﬁwﬁﬂﬁm

siniferen v fem &

Frefrfiare faeredl &  wEifers 397 IR
(A) T e &

(B) ufend weruclig &

(C) st &

(D) 2ot qlf war &

(£)  Hai@
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Which of the Tollowing stnlements is not correet 15

about the desert soil in Ragosthnn?

Choose Whe mosg appropreiate puswer from the

vptions given e l.!‘;}':

(AY 1 ineks in fenniling mnd keeps more salinity.

(e hrean uhsqrﬁ i ol the water much.

(CY  This soil iy displaced by winds,

(17 This soil iy foumd in western njnsthon.

3y Quiestion ndgniiemplied

oA 3§ waviEm g A e i frefafoa @

Ao avs el

Fr=fafem e § O waffos sogm sm 3

(A) sﬁﬁm%wﬂmnmarﬁmﬁmh

(11 urvwﬂmu%nﬁrﬁmmfa i 3t tmﬂrrﬂ
TEA N

(C)  TT =1 va ¥ w10 wwET=iE v

(1) =T g e Zreara | ark s 8 »

() afE v oy O,

Goitre i -::m-.cd duc 1o the deliciency ol IG
clement in our drc'l g
Choose the mm[ ﬂrpprnprmrﬂ nnswer [rom

. -
Sodium L
Et |

options given below:
(AY Caleivm ] {1
(C) Iron (D) lodine
(E) Question wodattempled
mm}tﬁmﬁmmﬁwﬂ THToT
T
ﬁ'ﬂlﬁ—rﬁaﬂﬁwﬁﬂﬁmaﬂgﬁ'mfﬁ.
(A) Hfemw . (p) Wfem
(C) 3m@ ¢ (D) SWErER
(£) aiE 91

Cl
Which of the fdldwing is not a biodegrad:
waste material? i
Chaose the most bippropriate answer I‘rumahn_'
oplions given be .
(A)  [Excreln (I3) Leaves of planit
(C} Menl c~ (D) Paint

:‘mﬁ'ﬁﬂwﬁﬂwﬁw

16

(IZ) {Juuhun o attempted

) et whd

orQ-xXiz| [j 6

Which of the Following nee not the possible
cinnines ol A1SY

. IerkmL impure witer T ometin -and
pords C:

I My hupghng the infecieg iR

S L i"-:fu&‘”"" needle or bloag yransfusion

. From mtf:.: ed mather i baby in the womb

Choosc the moyt appropriate answer from the
options given below:

(A) o, bandeonly (B)  cand d only

(€) band diodly (D) aandb only

(15} (}uculm%m attempted

ﬁmﬁtﬁmﬂr{ i1 UgH F Tl o A
a. i ST F K T b

b, TR AT Y e S

c. rﬂ“manﬁzﬁ?gémmmm

d. mﬁﬁ?ma:nﬂﬂﬁqan
ﬁﬁqmﬁﬁf?ﬁﬂwﬁmmmm

(A) Haea,Gfite (B) Faecaind
(C) aﬂabﬁhd (D) Faea st
(E) mﬁ?r.}rn‘l

|

Which of lhc:? following diseases is not a

communicable discase?

Choose the nLE;Eir appropriate answer from the

options given Qs}ow:

(A) Cancer O

(3] Tuhcrc{l“élqiﬁ

(C) Chil:kcquux

(D) CholerdD

(E) Question not attempted

Frefafas & wm-ar g@ms et 8

Freiferfiae feraft & & wrarifires TG I
() >

(A F o

(B) Hﬁf&iﬁwm}

(C) Fa= dved
(D) m%b
(E) ogafta wy

[ Contd...
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orQ-x121 D

Which of the followi s
‘h:.,h of the following stalements is incomect
NELY wrgrew g Sy k
-'I_-;\ M genetic sanations?
L A T o H i
- :_\ - I}... mrost appropriafe answer from the
GTIITE gnven boelow:

(B Ql‘-1!c distinet vanations are visible mmong
- t\:hg !nui_i\ iulu.l.l_ w hich reprvduce ;1:=cxl.1:'-ll}'.‘

(B ariations ansing during the process of
) weenoduction can be inhented.

WY Some amount of vanation s produced
cven during asevual reproduction,

M The umber of successtul vanalions ane
maximized by the powess ol sexul
repreductiion.

(EY

_Question not attempred
ST SNSEST gy 8 Heerad § %
= |"-~1| ﬂ‘u- Hara 'E'T‘

Fean (Sl § W HET1UE IUTE IAUT:

LAY ~-;1_a=_~.-ra*rr$u-‘ =1 f:t—maw—mb
SRS TEEE L-"-‘H—tm'«..uc:u.m E‘I‘d‘i 2
By === =i }-1;1*11"[ F 2 B el
ENIRG Enl S=a] 5]
() FT EhaT ST S o G o I
El!nl %1
(DY m;-nr».wﬂﬁyi?qlmmmw
=1 TedT J g1 el &l
(E)  SFmw W
Which of the following qt:ﬂem..ms are corect
amout Mendel s Monohybrid crosses”
a \fendel selected wild pea plant for hlE'—‘
eXperiments.
b. \Mendel studied the inheritance of O et
character at a ume. -
i N\lendel's work was neglected ﬁ::r about 33 "_J
wears, |
d. \endel used the word factor for gene. ‘_ﬁ
Choose the most appropriale answer from the N -
opuons ziven below: -_)
(A) a.canddonly (B) bandconly ]
(C) a.bandconly (D) b. ¢ and d only ":
[L'l (Question nol am:mpu.d '_}

mmﬁﬁmmmqﬁnﬁ'{hﬂﬁq'
'T-Hq-ﬂ‘éﬁ’??" e
A mqmqﬂﬂvﬂmﬁﬂmm
7y 5 A3 =1 2 41 ‘
b. m:rwnﬁmﬁmﬁlm

syeag faan dn - .
c. ﬁmwﬁmﬂasaﬂﬁﬁmm
|

d. mqaﬂzﬁﬁqmwmmﬂﬁm

m&qmﬁm nnn-mﬁmmmtﬁ:

(A) Faaa.c3fd (B) aﬁﬂiaﬂlc
(©) Fada, b3ie (D)

&Fae b, ¢ 3
(E) ST 94

19

farana gar

fin Fl

The character which does not express itscl

generation is called-

(A Allelomorph

(B)  Contrasting character
(€C)  Dominant character
(D) Recessive character
() Question nol attempted

wmﬁlrldﬁrﬁmwmmm%_m

e -

(A) TEEIETR
(B) faw{mmm
(C) T I
(D) ST 7T

o~
2]
—

1n which folk dance of Shekhawati and Kuchaman
are the instruments dhol or drum used?
Choose the most apprapriaie answer from the

options given below:

(A) Agni Dance

(B} Ghudla Dance

(C) Dandiyn Dance

(D) Kachchhi Ghodi Dance
(E) Question not attempted

draaTt i s 3 foe T T | e A g
rera=R 1 WA B #?
Pt famedi 1 8 watfire Iqg o0 T

(A) AT
(B) e TH
() sifemTH
(D) @A) T
(E) Wl’m‘ﬂ'ﬁ

| Contd...
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Given below are two slalements:
Statement (1): In Rajasthan Pabuji is worshiped
as the God of Camel. N
Statement (1: I‘1hu|1 -\%n.lhlui iov e the [irst 1o
bring Camel to Many wE:';
In light of the above statgments, choose the nrost
apprapriate answer  from the options given
below, o
(A)  Statement (13 15 Edrrect hut Siatement (11)
is incorrect.
(B) Statement (1) is_incorrect but Statement
(1) s cnm:clt. Al
(C) DBoth Stnlcmcniw and Statement (I1) are
correct. O
(D) Both Smtcmcnlﬁl and Statement (1) are
incorrect, o
(E)  Question not attéhipted
T (I): e & Wi 1 el F dmm HF A
T <1 STt B
F (11): muﬁmm?ﬁ%m Ay vt At
2l
IIUH FUA & mﬁiﬁ&qwﬁaﬁr Fq
waifire 3agw T A
(A) T (1) wE & SR e (1) e Bl
(B) A (I) T & S S (1D W R
(C) T (1) 3T wEE) S ae
(D) = (1) S (1) 2 e
(£) Fgmfawa [~
cy
Rulers of the princelﬁat:s have treasured the
accounts of their valagr; victories etc. written by

the chroniclers. What these accounts called?

Choose the mast apqr;yn’rrfe answer from the
options given below: (O

{A) Dawavail (B) Vaat

(C) Khyat (D) Vachnika

(E) Question nol a pled
frarerett & a3 sxdlefean, fersrdt 3nfa & gt
1 gfaemam 210 FE a?ﬁlFlEﬁ H Wi Ty
15 geriedt a6 A R &7

frfafiaa famedl # @ Aatfes I9gw 90T,
(A) = Cth) am

() w@m Cy  a=fora

(E) I¥ufa 94

oPQ-X12] [T]

T p—

While reciting the Phad of Pabuji, a musicz

K] |
instrument is used called ‘
Choose the must rrp};?ﬂﬂﬂ'ﬂff answer from th
oplions given hclmv l
(A) Ravanhattha ( !-’v,'l Ektara .
(C) Janmtar c(P)  Moochang |
{E) Question not attefnpted I[
Srew B, a% AT B o
13 fo o e 6 F rrﬂﬁ?ﬂg?-s?—w‘fr
(A) TTETERAT (~(B) TFATT
() ar C) =am

J Q

Y (F) AT 94

~\J el o

3de, (RIICO has sctup a Jagiianese zone in an industrial
i dark in: il

.\ Choose the mast apprppriate answer from the

¢ options given below:

{A) Jodhpur r.(B) Dholpur

:'\J(C) Mount Abu (D) Neemrana

w=={(E) Question not atfémpted

CO 8 RICO) 3w sméi & (&), ___ 3t
qﬁﬁwﬁﬁmﬁt ™
W S cg;B] e

jCJ TR HE (D) AT

\/EE] e v I~

' ' [t
35*Which Festival of Rajd3than is celebrated on P

January, on the dayg?;f Makarsankranti, every

—
pgy €217
!—hhoo'ie the maost npwprfﬂ!r answer from the

( j}plmns given below: O
(A) Ballon Festival (B) Rose Festival

(C) Kite Festival r.LD) Colour Festival
(E) Question not agempted

Treree A Wi o 14 SR, v &
Ty aTet AR T = e
Freerfr et it Srarfires g e
(A) TSEMTIHT (1) {IHWZ?HE

(€) WHMIFT (D) tTIwE

(E) Tt ax

| Contd...




a layer of zinc on iron

A6 Which of 1he following is not an example of | 38 The process of depositing
]"h}'sil.'.' I .ll : et i.‘l-1 l:””cd: : <
) U change? (A) Rusting (3) Neutralisation
Choose the o lippraprioee answer from the (C) (_'rysml]i,-;.'liinrl (1) Galvanisation
aplions piven 1-.._-[”?\:;] (1) Question dor attempled .
(A} Choru = : , : Uﬁ'ﬂﬁhﬂﬂﬁﬁﬂﬁﬁﬁmmﬂ_—
inging the feolour of the tips of hack- P I
. (] e ¢ A
s hlade mr"| .::'lrun_‘u‘ |1L‘ﬂliﬂj_.: (A) S S s (13) m'__fm
(B Formmion -.51'!I'r|'i.m'ni.~']1 layer on the iron (€) m:. L2 I L
gates of parks! (E) 3w wr_
(€)  Culting a picce of paper in Tour square 390 CAZRIL, a research institute i Rajasthan, 1s
picees = working on the igsue of:
, ¢ b i Hie. e : swer. from the
(D) Making a plece of chalk from chalk dust p— C.‘]u:mm. I!IL most-appropriafe answe
_ ‘ 5 CU aptions given below:
(Y Question nol diempled - (A) Camel rescatch
F=tsfaa b ﬁa’f‘l{‘ijl iferer aftads & U Iz B) [Industrial rescarch
T B ‘ (C)  Arid ecosystem
T N (D) Space resdarch
Frfafes fawedi 98 meffos svgmamead: | 0 () Question #al atiempted
(A)  UTHHR-3TH ¥ =572 T 79 ™ FE 7O 39 e FI (CAZRI), TSI =1 U& 9iTd Hedr fomd
. [~ | o o g w e .
CRSIEEE vl Frforfan faseq § @ waifas I9g S0 34
(B) U F wile RETE WL O H o F:; (A) . T2 IFHIE
o ! s
- E\ j (B) ST e
- : w (C) 3= wiftfeatashi @
(€) Wﬁﬁr‘ﬁﬁaﬁmaﬂfﬁmgﬁrﬁ (D) sl TG
™ W T 7Y
Eacall O (E) aqgaﬁ?m?__ﬁ
(D) =i 9o 8 T 1 ZHel T ) i
’ o Choose a major issue which has always affected
(E)  3FFafE T4 1~ d the agriculral development of Rajasthan -
™ gt Choose the mostappropriate answer from the
; sy i siven below: .
: Nature , e options given i
AT e Ormnywm:‘.m‘: e ' ;— (A) Insul‘ﬁciclff‘l_nnd for agricultur
Choose the most ‘appropriate answer from 1he | ped (B) Lack of Ghterest by entrepreneurs of
} o L]
pplions given bcln'?"'j B Rajasthan : % ) :
¢S (B) Neutral (C) Unprcdict:'I.BTc and irregular rainfall
(A)  Salty e S (D) Scarcity o hetals and minerals
(C) Acidic (D) Basic (E)  Question nol attempled
(I})  Question notattempled ﬁﬁﬁv‘lf'@ﬁ?l;(ﬁﬁﬁ T Fgﬁ@:%zm Wﬁ Eﬁ s j Forera
mﬁmmms'glaﬁrﬁﬁﬂ?ﬂ? freffam & watfire F9gw ST
ﬁmﬁ!‘hﬁﬁmﬁfn’aﬂhﬁmﬁmﬂ'}: (A) Tl i -
() wEdm () (B) WA (B) TR & gt & v R
() (C)  HuenfI aﬂ; fiofira auf
© sl D) wrfra (D) uﬁm@ﬁﬁﬁm
() sl 2 (1) H‘jﬂf‘{ﬂ 94
orQ-x12| I‘_"l 9 [ Contd...
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[

41

43

Govardhim Aseni, Popularly knosen s *Asroni’
is Fmons s o

Clwwse the most appropriore pnswer Tronm e
uplions given below:

(AY Acior (9 Moy

(€Y Nusic Director (1Y Politicion

(12 Quiestion il attempiel

i s 3 G st am Q) foem b,
bRl

Frfafea frwedt §  watfire sogm s g
(A sihem y  ferem)

¢y ufafdzs (1 oedifm

(&) rpafmay

The Late Jagiit Singh was lamous Tor which ‘hﬂ
of singing?

Choose the maoxt apprapriate answer from ™
options wiven below:

(AY  Tenore

(B3Y  Ghazals

(CY  Soprano

(D) Western style singing
(EY  Question not attenpled

. ot et o e vt & g
Frefirfiaa freredt 8 watfire T07w T Tt
{A) ﬁ'(

(By 7TAA

(Cy =t

(Dy  alEr At

(E)  3qwiE ws

When a ray of light incidents normally on a pleme
mirror, the angle of reflection is -
Choose the most apprapriafc answer rr'uﬂ
options given below:
(A) 90°
(B) Greater than 90°
<)y o

(D) Greater than 0" but less than 20"
(E) Question not attermpied
Ttz oA v g A R
Freft & 1 A T 1 HE -
Frefafiaa fased | @ waifis I9gw 30094
(A) 90"

(B)y 90" @ 3fu=

cy o X

(D) 0" 9 wfaw o 90" W

(E) orafaaa

Ta

I

uru

orQ-x12 [‘_” 10

nag

44

45

; et ol right angles. 4 fig,
Twe plane mirrars ALt - sles. A lig,
te neident an one mirror at @n angle of e
ry isne :

angle of reflection frgg o
Wit will be the angle f ton freoeg s

T
second plane mirror

Choose the mas! approprivte ansvier from &

ven helows

pplinns pi : . o
i T I @ THETT T T -:fm?

A1 T

ogan o P T T T 307 T S g
by e Ty 7 8 TEE TS ET T
e

) o0 () 1207

©) 30 (D) 607

() Question not attempted / AT 337

Match List-1 with List-11:

List-1 List-11
Shape Type
" 0 1. Convex mirror
b. e 1. Concave lens
c. ( 1. Convex lens
d. ) IV. Concave mimor
w1 % wa g1 e =
wAT-1 -1
AT T
a0 I I Z5A
b. X 1.  ¥Faaad
e. T IEEEs
d ) V. ¥EaS I

Choose the mest uppropriate answer from &
oplians given below:
A1 fer o el & & warifirs Fugwm IR T
(A) a-1V,b-lc-1II,d-1Il
(B) a-lLb-llLc-1,d-TV
(C) a-ILb-Illc-1V.d-.1
(D} a-HLb-IV,c-1,d-11
(E)  Question not attempted / Nﬂﬂfm =
| Cul‘l‘d"

Scanned with CamEcanne



A : human
Which of the following is not & part of

I ATAL Sewn Conter are lovated in Rajasthan in/ | 49
A mule reproductive system?
Chioce \ . ¥ . . [.._“ Tesles
wae the powr "J'J'l"llu"ﬂ'ﬂfl‘ answer T the l:;'\,l Vs delerens ,l;! } ! : -
t"i"’liﬂl\ﬁ '_k‘i'-l‘ll e lomy '-\‘I {t'} Seminnl Vﬂﬁiu[ﬂl)] ["ﬂ.”ﬂrﬂﬂn lubcs
By The ¢ TRITINY l‘.'|.1'l\‘1\1"r9'1-j| Tewel “} Qlil‘h"illll el ||I|l:il'|.['||l.'li ] q.ﬁ
W Allthe cours oy Ryrifrfira 3 Q4 7.l wierer 77 ST A 7 AT
WY The capital ol Rajasthan ¥ r-_ !
AN Al magor cities of Rajasthan (A) minen E{FH) vl
Y Question not anemipted ©) - T”l Nertfrr Aferar
AR N 3T A A w9 fvm = J .
s o) 3 @ wetfs sogew I (fy SRR ~
W\ TIROETAR RN () o™ K in
W =maTE) o S0 Which of the followinp is not a type of teeth i
g e i
WY TEEnS Y ot lwmnns? o
(m m%mﬁﬁgmﬁﬁ - 3 (A)  Incisors {C: ) Premolars
) Niﬂﬁ-d oy E\J ODC] Pylorus Al ) Canines
= TR . 5 med (E)  Queslion not agempted
4. [ (‘ . ol [ A LS H i . %
;l::ir,:“:-l;_.l,m- 'Iult.p!lg:-;'t: number for "Child :2 A 5 & 9 3 3 e} 2T U TERTCAET
e "‘-j
- < [H r“
Choose the maost appnr‘narr answer from the _. ; T
options given below: }Si N\ Lt g[-..m bl
N R gﬁmlsq' £ FE-Q ﬁﬂﬁ a'a Tﬂ.‘m '_ (‘-E] :";Eilm C‘E'!D) (<
G s o CU (E) raia e o
F=iaiae el 8 § wEifus g™ Iut 3 ™
)12 (BM 1098 | From the following lisy select the organs of the
(11000 (O 10035 human digestive systém:
(B}  Quesnon not attempled / Nﬁﬂﬁﬂw " a. Rectum b. Trachea
48 The First National SNL‘E‘\- day was celebrated on ped . Oesophagus 1. Urinary bladder
o € Pharynx N
. ! Choose 1l ! SFopri
Chuoose the mosr npprtp.‘?'au' answer [rom the | e : '“'- sl 'E\Tp riate answer from the
options given below: (] 'Q_J options given below:
(Al 27 August 20248 wei (A) a,condeonly((B) aandbonly
(B) 31 August 20240 ) (©) b,dandeonly’(D) canddonly
(C) 20" August 20240 - (E)  Question not afieinpted
(D) 23 August 2024 Frr=fefas gt 3 & ora F o dv & s s 9
; : A i~
(£) Question not nucrgu"l,md : o
s e At feaw Y o) e man 0. WETIN ch.
m%fhaﬁmﬁnﬁa{f‘mwgﬁvmgﬁ: c. 0 pmE
(A) 2THTE 2024 e i ™
(B) I &TmEI024 i<t fir e feremet i 1 3 T I
A0}, SOSTe N g (A) Feo, e Meed)  Faera sy
SRS (€) FEa b, daie (D) Faetc iy
B} oI (E) argaftaas

orQ-xiz| D 1
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ahi Crop grown in Rajasthan:

52 Who nmong the following was the first Gavernor | 55 Seleeta I ropriate answer from th
of Rajosthan’? Choose the most app
Choose the maoxt appeopriate answer Trom Ui aptions given helow: .
iony piven below: ; (B) Rice
aplions piven e ; (A) [ HF )
(AY D Sampumanand (D) Bajra
: S (C) Darley
(1) Sardar Shri Hukum Singh ] ol attempted
S ik - dion n
() !'l'HI"I Gurimunkh N'I.m! hllmal'r . (1) 02%"_“" fy 721 FHEA T T Frfam.
() Raj Pramukh Sowai Shri Man Singh TAT4TA H 3 —
(1) Question not altempled frefafaa ﬁ-;?m ng;aiimaﬁj ™ T
=t 3 A gewam % wan e O T (8) wEH
fr=ferfiem fave 8 @ werifires s s (A p) A=
a oo (D)
(A) B, wegela= (€)
() F=n ef g fem . (B wypefTa A
(©) A oy foe o e
{::‘” i dalilile mln which phasc were Alwar, Dholpur, Bharatpur
(E)  srgafm v Jom, Karauli merged into Greater Rajasthan?
A
53 The number of women who have become Chiel o CO0OSE the most appropriate answer from the
Minisiersof Rajasthan till date as on 1* September “ Japtions given below:
2024: (A) Third (B) Fourth
Ch?osc the maost appropriate answer from the pwd(C)  Fifth (D) Second
optiens given below: - . { attempted
| R 2024 7F 5 T Forer = ™ (E) ngstmn nol a p )
o B w07 F ST, IS, WA HR T F1 562
et 3 & waffirss Jugw s o N | faera g '
(«g} 3 (B) 4 faedi 5 & waiferes 3o I T
<) 1 (D), 2 f
' A) M@ =qd
(E) Question not atlempled / aag?rﬁaw (A) " @) g
p—(C) q=H (D) fadm
54  Who among the following was appointed the : jE} Il W
deputy Chief Minisier of Rajasthan in December
20237 i;zz”] . :
Choose the most apprapriate answer from the ‘D am-:ug the following is given the credit for
options given below: aking Kishangarh style of painting to its zenith?
(A) Bhajan Lal Sharma ;_'Ch':'““ the most appropriate answer from the
{B) Prem Chand Bairwa pessdOptions given below:
(C) Gajendra Singh Khimsar A)  Uday Si
h .
(D) Rajyavardhan Singh Rathore s “'; E"  (B)  Nihal Chand
(IZ)  Question not atiempted ( ’ o0 ‘Chnnd (D) Chandan Singh
frafafas & & fra fraer 2023 8, toem & (E)  Question not attempteq
T ¥ va t frgen o man am ﬁmwﬁmﬁﬁmw“ﬁaﬁ
Frefaftan fawe 3 © Faffae soge smogs: m&uﬁqﬁ&ﬁ:&ﬁmmﬁq
(A) W wme il Frferfas faess & :
(B) T a= A % fire “&m*“ﬁmﬂﬁ:
(C) iz fir e it (B)  frew =
(D) Tewan e Tt © us (D) == firg
(E) wafmwy (E) oraferwy
orQ-xiz | 12
D | Contd...
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61

Wha  has wrnnten Raataan Ri Phulwan’

wWollovtion of Rajasthan tolk tales)

AOhwee the most gppropriane ansaer tom the

opnens aiven belows

LAY Vigandan Detha (1) Lasmi Kumarni
WY Shno Lal (M Malehand Tiwan
(EY Question ot attemptad

WE T TSR (SRR aiEenal &)

e T TN |\1\q-‘1 T 't *
-
EETEREEE T B n‘sﬁ%’a“m”’ﬂtﬂﬂ

) EEEmE T asten
WYy NiTm (M "v:ﬂ?iﬁ_' fimmd
() SEEhE v

How nany numbers from 430 o 600 are exactly

divisitle by 12, 15 and 207

AY Two (B One
WY Four (DY Three
(EY  Question not artempted

230 F 00 FF TEasT 59Td 12, 15 & 20 | ota:
:_1“\"“- %‘*

Ay = (BY U=
LS TR (D) o=
(E)  FT5na &%

Two years ago. the average age of A, Band C

WS

LAY 23 vears (B) 14 vears
1C) 16 vears (D) 20 vears
(EY  Question not nncmpted

_‘l—ﬁ'ﬁé‘»&.BmC %1 ¥iwa 9y
_SGE Bhﬁlth—rﬁiﬁﬂm-’\aﬁmg\ﬁ
an-nq-:-l""-r'"'T%' 8

(A) 2453 (B) 1454
(C)  16%% (D) 2099
(E) S ¥

The hormoene that regulates the blood sugar level
in our body is:

(A)  Thytoxin (B) Testosteron
(C) Adrenalin (D) Insulin
(E) Question not attempted

T SR ¥ o TS0 & = oo e 55 e
TEAE-

(A) wEdlEE (B) RN
(©) TEHIEA (D) Tfe
(E) witd WX

OPQ-X12 [:I

24 yvears 7 vears ago, the average age of B |
and C was 25 vears. What is the present age of AT

ayEden 7 |

Gurukul

6l

1..

laran

2

13

. P ennneclive tissies are:
The examples of connective U

. Blood b,
d Curdine muscle

Rone

¢ lipithelium

; awer from the
Choose the most approprinte answer Ire

up'[iuns gi\'l:n Lelon:

(A) o, band donly

(13 b, cand d only

(€Y aand bonly

(D) a.band conly

() Question not attlempted

mﬂﬁﬂ Faehi & I3 ¢ -
b, AfE
d. 72 U3l

ﬁqmﬁmﬁﬁﬂwﬁwmﬁ?m?ﬁ

(A) S a, b d

(B) Faelb, c3Td

) FaeTa 3T b

(D) FETa, b3

(E) 7wl wH

What is the percentage of oxygen and carbon
dioxide in air inhaled by a human being?
Choose the mast appropriate answer from the

oplions given below:

(A}  21% and 0.04% respcc:u. ely
(B) 0.04%and 21% rtspecmcly
(C)  16.4% and 4.4% respectively
(D) 4.4% and 16.4%% respectively
(E) Question not attempted

wer g 3t ot 9 Al g siwfee o
T SIEATFETES & Wiawre = g &7
Frefefga fasedt 3 @ waffes soge s

(A)  #FEr: 219 3T 0.04%
(B)  sHWET: 0.04% 3T 21%
(C) THAT: 16.4%% AIT4.4%
(D)  THU: 4.49 3 16.4%
(E)  aita ux

| Contd...
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A . . 1 with List-11:
64 Suppnnmm‘lcyfclrbigcnil]c(higgnvnnsh}under. 67 Match List I_w:u

List-T1
. . - List- ;
cattle mﬂlnt.’nntd m cow shelters registered by Lis ‘ o T Plane mirror
n
the state goyemment is enhanced from Octaber a. R””':_'-:_f.'.p
2024 as- - | a polishéd or

? shiny Gifrface
Choose the misr apprapriare answer from the :

8 i for 1L Concave mirrg:
oplions gi\'crﬁ\_‘ﬂc]m\': b. The "E{T u:\:c:-‘gc
(A) T 62/day (B) T 68/day an upright 1m
o bject
(C) T 4d/day (D) T Sd/day ofano , :
(E)  Question not attempted c. The rE_:ir_ror which L. Regular reflectipg
TS T B A ety & sienr wiverar always forms
TR ¥ STAZAX 2024 ¥ Freryem s ) et 2 el gnmciacd virtual
e Rt 3 & ratfis g s g ofs and 'ﬂ"“”
(A) Tea2 ::l (B) Tas/fea I_'J im'crtf_‘ima[-'c
(©) Taan (D) T 54/ \-"J:) d. Mirorysedin  IV.  Erect
(E) smmiass o» " solar Eobker
an and torch
65  The cost of food thali for poor and needy unda?': Hﬁ-lﬂﬁz‘l}] = |y foemT =1
‘Shree Anng\fjrnn Rasoi Yojana', n \Uelrﬂr? o @.b T=1-11
scheme of R'il-j‘a;sman (as on September, 2024) is ll-: a. qm?ﬂ'gﬁ?}'r‘q I. HHdT 97T
Choose the .:nésr appropriate answer from lhcE » giferershr m
options givediHelow: ; - e § GrEeT
mﬁﬁwm'*mmtb' b m;%ﬁ-f‘" . =& =90
TremT, 3 st it I oy e i et whafe = fan
¥ < (Tt 2024 3 avgemg et 2 -1 .
ﬁﬂ%ﬁﬁﬁfﬁﬁﬂﬁmwmﬂ* '—',. c. = T L frafm soads
(© T8 g D) T22 8 mTEr AT
(E)  Questiod not attempted / 377af@ s el W‘N%:féﬂ
ich of hn Howing is not an alloy? '-||" & s
66  Which of the fo g y? . deEmcsit v, T (HTaT)

Choose the mest appropriate answer from the

-

&1 1w

options given-below: ST Fien 2dm

(A) Bﬂ:{l’lﬁgé (B? gﬁ::ls* Choose thegmsf apprapriate answer f{rom thi

(C) Stainless steel (D) . admium options Ei-"'El'l-‘lhcm“':

(E) Quest 0f not attemp 3 :

Frefafea @& - frr arg 7et 2 e ﬁ“”‘?iﬂgﬁ:jﬂﬁ?ﬁbmmgmm T

ﬁﬁﬁﬂﬁaﬂﬁ,ﬂﬂﬂﬁﬁﬂm?ﬂﬂﬁmg}: - n—", -W.c-1,d-1l

(A) =iaT (i) (B) e ) 5 g (i;{’ Le-IV,d-11

(©) w=ewmdm (D) F=fimy a-Lb-1WV.c-N.d-1

(E] Wﬁagg . '..D} ﬂ'“.b-"[,ﬂ-l,d.]\,’

: (E)  Question not attempted / 7T U

R [j 1 | | Contd..
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71

Dolly, the first eloned sheep died in:
Choose the mosr appropriote answer from (he
OpLIOnS given belows:
Sefl T wrel A e ey i)
Rt faarest 3 warfiras swgen g
(A} 2005
(BY 2007
(CYy 200}
(1Y 2003
(E) Question not anempted / ImfE war
69 Animals which lay cees are ealled:
Choose the most appropriate answer from the
opLons given below:
(A)  Ovoviparous animals
(B) Invitro fentilised animals
(€Y Viviparous animals
(D) Oviparous animals
(E)  Question not attempted
Frsfirfira i 6 4 walfire Iage 3T g E
(A) SiESUES g -
(B) §H ﬁqﬁa g
(C)  Hfrassre: <ig
(D) 3veWeF Ig \a
(E) SHEfaws
70 Identify the oviparous animal.
(A) Dog
(B} Human beings (
(C) Bunerfly
(D) Cow
(E) Question not attempted
HTASF Siq 1 IeTH Fll
(A) g
(B) W=
(€) foaeh
(D) =
(E) 3@’[‘1’:{ a4
orQ-x12] 7] 1

14

5

LUUrukul l 1‘ana g‘ I

calhes through its skin:

e animyg I
Name the animal who | rrom the

swer
Choose the most appropriafe ans

optiony given below:

(A)  lilephant (3) Camel
(Y Monkey (D) Farthworm
(1) Question not atlempied

miﬁgmmmﬁaﬁmﬁﬂ‘nﬁﬂmmﬂ

Fresifefim faremei 4  wrarfferss F9G 200 4

(A) T (B) f_-"_n?
(€) =T (D) g
(1) @it 94

The price of a commodity decreased DY 10%

vhich cnabled a shopkeeper to purchase 8 kg
more of it for Rs. 3600. Find the reduced price
per kg of the commodity.

forelt awg i v | lt}%ﬁaﬁrﬁm%t{%
mwwmsﬁmmmn? 3600 7
@liz w1l Fiqa FH €9 F a8 aeg 1 gfa
e g s

(A) T 4as B) T42

€y Ts0 (D) Z48

(E) Question not attempted / 3JWHd 94

When 36 is added to 60% of 2 number, we get the
same number. Then that number is:
w1 femelt |t % 60% o 36 ST ST &, 7 5 ad

&A1 WTH Bt | T 98 HE 8
(A) 90 (B) 100
(C) 75 (D) 80

(E)  Question not attempled / 3TTaftd wr

A student has to score 40% marks 1o pass in an
examination. He gets 30 marks and failed by 20
marks. What are the maximum marks of the
examination?

T BT 1 GieT 7 Jeliof e & ferg 40% st vy
T §1 30 30 37 firem # afae 20 3 §

B e €, A oven 7 svfirerae o T &

(A) 125 (B) 140

() 90 (D) 100

(E) Question not attempted / ﬂﬂﬂﬁ?{ e

| Conta...
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&
Xqu—%muﬁhﬁﬁW

Which of the following stalements is correcl
about the alluvial sail in Rajasthan?
Chnnsm:c mast appropriate answer from the

aptionggiven helow:
Thls soil contains enough quantity of

(M)
IE:FUL.'EII.
8

(B)  The amount of potash and lime is found
fesk in this soil.

(C)  This is found only in northern districts of
[ajasthan.

(D) @lrs soil is very useful for the production

¢l Awheat, mustard, cotlon and tobacco. g
@ifcstinn nol atiempted

(E)
FeF HELE -
Pt famed 2 & warfres 3o 3 o o
mqmﬁmmﬁmﬁmmmf
(B) YT T iert 3R T () Eﬁtﬂ"ﬂm
ol e

—

(D) I®|7TE, wal, Fa| R darE & &
fort e swar 21

(E) argaftaw
(N

Which §s™ot a type of bush found in Rajastha

76
Chons{::d'm most appropriate answer from
optiongglven below:
(a) Liha (B) Ama
o) :
(C) Fog (D) Dhaman
(E)  Question not attempted
2 ot ey 91 S arefl {Te1 O WA
o
» §
ety et # @ waffid 39g I0CT:
@ T (B) m
(C) T (D) W
~(B) gaRawA
orQ-Xi2 ] [:] 16

15

mnnﬁmqmaﬁﬁﬁqﬁrﬁmmﬁﬁ)
8

7

f |
Eight [friends collected money 1o help flgaq |
victims. Six of them brought T Jl'ltf cach. Th,

seventl{ person brought T 100 more than (h,

Fls o ; .
average, a‘l' gighl persons and the eighth person

brought 31 550. What is the total sum brought by

them? °° ! :

mﬂéﬁ%mrﬁﬁﬂ’i#m*ﬁﬂ“ﬂw%m

i ) ¥ 300 5 A S A e oy

srferaii 3 afvaa & T 100 3 T S s
safen T-550 T e fehet T T
(A) f;_:;gﬁn (B) ¥ 2400
(© 00 (o B
(E) Q‘ui:-siion not attempted / Jﬂﬂflﬁ Wi
~
&
A familyyconsists ol grandparents, parents and
three grandchildren. The average age of the two

grandpArents is 66 years and that of the parents is
~

Al

34 year\é.ht‘ the average age of the grandchildrens
is 8 years] then what is the average age (in years) |-

s .
of the seyen members of the family?

N

£ -2 Yt ofteer g 66 af & ST AT AR

m&g34aﬁalqﬁ%~q‘rﬁ:ﬂzﬁmm§s
aﬁa.a‘{.sfmr{%:mmaﬁraﬂmmgﬁﬁﬁ}

(A) :{fj (B) 30
© 33 (D) 32

(E) I(?::lf:}'stiur:-r: not attempted / AT TH

The selling price of 12 apples is equal to the cost
price :)!;_I 5 apples. The profit percentage is:

12 ¥t @ferra e 15 el ¥ o ed F ARl
GIERIGEGES

(A) 2?"'11 (B) 27%
g
(C) 15% (D) 20%
(E)  Question not attempted / 37AF T2
| Contd...
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__\ bk o bbb e - oy

vrrher ofveilad wonen dancers halanee up to
e T T ;

SR or tine hrass pots on their head. This danee
o i callad: {
Choase the mast approprivt ’

e mast gppropridte answer fom the
apmions eheen below: '
WAY  Terth Tah (13 Bhawa
WY Ghoomar (I Kalbelin
VEY Q wshon not *.mmp'::h.’l
S forz

=== = 5-4'.._-=nt,-u -qnu:u\_-:-'['-FT W{Hﬁ?ﬂﬂmﬂ?
= T tn:m IREESSE O] Fwl 1 | e £t T8 e

A\ R ) Y
LA T T q;mi:’,mﬁw
(EY :q':'t?ﬁﬁw 1_:_\]

o

Which danee is pcrmmwd by the Bheels in
Aewar?

Choase the most appropriate
options given below: ﬁ
Bhawzi Dance (B} ,:\;Shmum: Dance

answer from the

AD
() Gawvn Dance (D) C\Kalbeliva Dance [_
(E)  Quesnon not an-:mplcd

mqmmi?ﬁtmﬁmhﬁmw%*
mﬁ?ﬂqawﬁmmmﬁ

(A) WAt 59 1!3‘;
(©) TR T (D) c.\{m—m%%m T
(E) SuRa 9% -
N
“Tamasha® is the famous R\{L theatre of which

place of Rajasthan? :"\]

Choose the most approprigic answer from the

options given below:
(B) ™ Bikaner

(A) kotd

(C) Jaipur (D }f\'lU:.lnipur

(E) Qucqtmn nol ut:unpmd

e e A1geh qaE’ u:mm&: o T 1 &2
ﬁqﬁdiaaﬁmmﬁﬁwfﬁmmmgi
(A) e (13) T
(=g (D)

(E) STt 94

orQ-x12] [T}

16

%11"

l drdrn a

GakaLU

in Rajaslhan‘?

Where is the Jawai Dam sjuated
swer from the

\he mast appropriate an

Choose
options given below:! ]
(A) Kot .(B) Sikar
() Pali ', (l_D} Jaipur
(£} Question not amﬁnmed
e 3 s afu aet ferd 87
ﬁﬂﬁﬁaﬂﬁmn%qﬂmmﬁ*{?
(A) T (B) H
(€) e o) X
(E) AiE 7 :,1

ol

According 1o the cr.-nsus of 2011 which of the

hDinllm\mg districts had !lhe highest population in

Rajasthan? :_; -

Choose the most approprigte answer from the

options given below:i—-

(A) Jaipur "fB) Pali
(Cy Bikaner ‘Tp] Sikar
(E) Question not nm:mpmd
*unaﬁmm%aagaﬁummﬁﬁn%%a
i it FEE aa'fﬁ:ﬁ%‘?
ferfefiga fawea H 8 wfﬁﬁh‘ Juge I
(A)  FEE r~(B) Tl
(€) HwR (D) ®
(E) i W i

o

ars was the Rajasthan

In which of the I'nllowmg ye
State Road T‘r*m*:port Corporation (RSRTC)
established?
Choose the maost appropriate ANSWET from the
options given below:t N
Frafafed ﬁ%ﬁqa&ﬁmmmwﬂaﬁ
firma (RSRTC) nnwgé ft?
ﬁqﬁmwaawﬁswgmm@
(A) 1962 l.: y 1964
() 1955 (D) 1960
{E) Question not attempted / Hjﬂf(ﬂ "y

| Contd...




wi Which of tie following netors do nat determing
L

86 In Rajasthan, Bisalpur project is located in which i
- Gl the elimate off Ragasthi
of the following areas? Choose (he prost appropriate answee from the
Choase the most appropriafe answer Trom the 7 ‘ :
options given below: j
tions given below: I ol |
o (A)  Wind direction
- ‘ 1 | | " s A
i oo () Distance from the sea
o oo (Cy Latitudinal position
(E)  Question not altempted iy o

e & ey efaiemr feferfian 3 @ famw A () Question not attempted
i fam @ Ereferfiaa # -7 TR AR Y T F

et forg o el & & wrart swges 39t O - Prerffier el #zam?
(A) SrEenr (B) FER Firerfirfia Fraredi o & waffires I9gw 300 94

(A wmFfEm (@) @A

(C) TR (D) Tw hD
(F) smwfwwn (C) ommizhm feafy (D) vt frafa

CU (E) - sfufe v
f—

87  Which of the foXowing National Highways pass |"
@ Which dialect is spoken in the areas of Chury,

through Rajasthan state?
; ;_. Jhunjhunu,  Hanumangarh, Suratgarh  and
Choose the meosr appropriate answer from the
. . m Ganganagar?

options given below:

p m . s Choosc the mest appropriate answer from the
(A) National Highway no. 2 options given below:
(B)  National Highway no. 37 4— (A} Mewati -
(C) National Highway no. |1 —_ (B) Wagadi

(C) Malvi

(D) National Highway no. 13 "
) (D)  Shekhawati

(E)  Question not attempted

Sata ‘ o—e Yot (E) Question not attempted

. — .
Oaﬁuﬁqﬁaﬁmma .

Frfafea fasedi 4 4 gaifier sogmw so g, e

(A) T Tl e - 2 - Vi rm e P I ITH:
(B) g wromrf gwgr - 37 ®) .

(C)  fa remmi FEm - ) (C)  wrert

(D) wfra Tremr dw - 13 (D)  FrEmETH
(E)  srgafe v (B)  orgafe wey
orQ-xiz) D 18
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2 Revhit i nwade during the
(haaiehny betore whivh
% it f=
iyt .
o the emeng _,.Tng-w.:rr answer e the
costesd e helow Y
f 1]
Y vl N
o~
(FY Poogzl ~J
ot Dhesshim =
D ot
B Juamion oot aempiad
=== T ST aNTE v oW R wiEh I
—— = & IS aT 5§¢.~..T;‘T=t?wgmmg=t:
A 2T N
=i ':-."r{-. C“j
E )
{5 | =]
Dl T ~
E OSSN
o
o] W=izk of the followime pair of pouliry bird and
l"'ﬂ
iz chammsterisiis s nr—.a:\:ﬂ\ martched?
Coovse B mast cmgspnm'e answer from the

optans given below=D
CARI SONALL - Commercial Brown Ege

(&)
Laving Chicker~

\B) CARIBRO VISHAL - Dual Purpose
Chickes <

(€1 CARI DEBENDRA - Commercial White

Erw Laving Chicken
CARI PRIY A ~Dual Purpose Chicken
|

(D)
(Ey  Question not affempted

:anrfqu T2 e o I fadraan

TR EAS -|| i ?T\J
=eTaa rqwﬁszrmarfimmmﬂz
=

(A) ShEEEl- marsettmi-'ﬂgﬁﬂf
(B) mi’a'rrrazqtmmw
(C) mmaﬁﬁammﬂmﬁgﬁu’f

(D) & fira - v sten ane gffal
(E) Faid g%

OPQx12] (M)

p s hird ondd
which ol the following pair of pouliry

0y
) L patehed?
its chamwteristics Wbt correctly matehe
o % wer tom the
Clhonse the mox! appropriate answer
Y
pplions given IwImE':J e
1 [CART - tmproved Indigenous
| G O & t
(I CARIBRO r:.ulrr*.'um,u - For ho
Bl pegion
(Y CARI SHY AMA - fproved Indigenous
|
Fowl ca
;—U'J'} UrKARI - lr?n]lm-.'cll Indigenots Fowl

\-MF} Question unrn'ilcmplul
u@qﬁmﬁﬂﬂ P e o et A
w..ua‘r% 1 wreft forerrr e R 7
gﬁﬂﬁﬁﬁﬁﬂ?ﬁﬁ‘ﬁnﬁﬁ]ﬁwgﬁm REE

Con  fawrtt frrant - s g

¢ = -

S B) TR GG irnf it 3 & & feg

sﬁc, &0 v - mi:mrgrﬁ
[_‘h:n IUFHT - 337%%135717

(E) i@ wN

—_—

~ & |
93 _AVhich of the followihe is a grazier/shepherd of
e

pefRajasthan? c:d

'*_J hoose the maost 511 ropriate answer from the

Pt T

““pptions given below™d

OM Raikas
(C) ~ (D

Gaddi
{E) Question nm(é‘iwmp:ed
ﬁnﬁfﬁaﬁ%mifm T SETET R
ﬁr:rfaﬁaaﬁﬁﬁf{émﬁﬁmaﬂgmm T

(B) Gujjar Bakarwals

Dhangars

(A) T g(m T ST
(€ m (D) VAT
(B) ot s

19 | Contd...
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i exatic breed of | 96 Which one ol the follawing in n “/ﬂh Vinty,

94 Which of the following is nol i
privwn’! f

" 8wy
salcinle Choose e most ﬂﬂﬂﬂlﬂrfm'l' nnnwer from the

ot appropriofe ARSWCT from the

hoose the
o optiona given helow:

i siven helow:!
P }-l\: " "e h (Ay  Curiln ereitled
Kmkre) -

‘M “T:'CIL"i;‘I Friesinn (y  Apts melliferi

o - | () eneens sl

o e Swi (" Meerahwachinm rusenhersll
(D) Browm Swiss . | | l
(E)  Question nol atiempled (1:)  Queslion not mttempted

.F | : et it 1 FY-TT StErEmit e w8y
Arfirfias & & v § ) R @ AR fre=feafera it @ ;’.?1” : n
et T &7 Prerferfrn et 1 @ watferss g 77 73,
7, ;
' | pod (A) AT I
frferftan faseat # & waffores soge ST
(A) TS ¥ 00 o) ofta A
: -
(B) ErewdR-mERE SL)o) s
() S @ iz ratfaam TratTa]
(D) i E=w — () araftaud
(E) Fwia ¥ ; o
?7\) Which of the foflowing is not correct about

o5 Whidh of the Tallawint PR ™ CARI-NIRBHEEK?
L ic e followin ¢ of animal is "f :
i ' Choose the most appropriate answer from the

-

sugeested minimum floor space for housing |

.

options given below:

purpose?
A)  Itis a sing i s 3
Choose the most appropriate answer from the [ o) “:S ’ SIH-L.I'-"-'.Cﬂlo.llde CHENRIE REt:
) _ pest (B) This chicken is for cgg and meat
options given below: ) P s i
clion.
(A) Adult Cows
“ . —v (C) Ttis aresult of Indo-German collaboration
(B) Adult BufTaloes —_— .
6 et — project,
; St (D) Field cvaluation done in Raojasthan and
(D) Down Calvers —_— .
(E) Question not attempted — (E) ‘I;““J:;Z HGLaR ted
2 uestion altemp
ﬁﬂ%ﬁ%“ﬂﬁﬂmﬂﬂa‘mmm Prerferfer & & 60 P i § B ww
T gFam ae w1 gy 2 mar fo ) T 2
L - =
ﬁﬂ%ﬁﬂm Tﬁﬂwﬁ%wﬁmﬁ Pt freredt 8 @ waffire Juges s
o a"““ﬁ“ (A)  T% G O areft St el @
- ki © )y T i afEr afite (whe Sear ¥ R @
55 mzl t’m"(f" o (C) & sy weam aftysE = 9t @)
% ;3'3" ) (D) TrereuT ST g B A e o T
SR ()  srgafa wu
HEg ey D _ 20 [ Contd...
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' i wear
100 On which occasion do women of Rajasthan we

98 Which of the rﬂ"DW’il‘lg is true aboul CARI
PRIYA? s“Lahariya Bhaant Ki Odhni? X
Choose the maost appropriate answer from the
Choose the maost appropriate answer from the
A ; options piven below:
aplions given below: i
' (A)  Diwali (3) Birthof achild
(A)  Commereinlly Brown Egg Laying Chicken —
(C) Holi (D) Tee
i C o} '. W Tate Bep Lavi H T
(B3) ommercially White Egp Laying Chicken (E) Question not attempted
{C) Commercial Broiler Chicken TereyrE & nfgend forw sEET a1 werdl uid =
{1 Dual Purpose Chicken e 1 Rt
¥ ! :
(E)  Question not attempted ] meﬁwﬁﬁﬁmwmfﬁ:
Freaffan 5 & 7w &0 far Faivied [ (05 (A)  fareh ®) FgF
& 2l et (D)
Frfeifad fasedt & & waffaes sugw se g ,_P""u (E) Tuiawy
(A) aTroTiege T 312 &3 qrelt qfitad - |
(B)  aforee wie ai2 2y mt—ﬁgﬁﬁ m According to Mineral production in Rajasthan
o e s S during 2023-24, Rajasthan is the main mineral
T % '5.3 producer in the country for:
! (D) <TeL Iezd arell g
! e Choose the maost appropriate answer from the
e ] A options given below:
p——
et (A) - Sillimanite
99  With which occasion is the Kachchhi Ghodi d (B) Diamond
dance associated? e (©) Lead and Zinc Ore
Choose the most appropriafe answer from the ;_'} (D)  Vermiculite
: P _
options given below: wiwd  (E)  Question not attempted
(A) Holi (B) Navratra ( J TSET WS IR 2023-24 3 SRR IR F
) TSIETH, G &1 T {6 I9Ew
(C) Teej (D) Marriage R Is
|
(E) Question not attempted ‘
) L 1 R e fereredl # @ wad o IO
T drél 37 T et @ w27
. (A) fafedarge
Prefefas fawedt § 4 waffas sogw T T4 (@) -
(A) BT (B) FauA () wivam airarn
() = (D) faam (D) e
- (B rgaRaya (B)  srfE
0rQ-x12 ) ] 21 [ Contd...
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102 Bhilwara city of Rajasthan iz known [or 104  The number of Gold Medals won by Indiy ﬁl .
Choose the most appropriate answer from the Pamlympics 2024-held at Paris was:

- 1 5 o ‘
oplions given bclm‘-}‘ y Choose the mﬂ{‘_-;"FF’ opriafe answer frop, e

(A)  Civ of textilesand looms GG g belidky
o b 5 ¢
ol e ereifiras, At 2023, 5 T T S G 1 s
(C)  Gold and Silver prxduction - g >
(D)  Cement lnduslf}‘ ) FeE ot -,
 dit
(E)  Question not attempted frefaftaa fasedl § A Baifrs suges IMH:
e F i = ¥ fovn IFT ST @ 13 ;;-]
4 {:li (B 6 L
Frefafes fawmeal & & Faffies segw o a: o\
% | w3 ~3
(A) TR 3N = a:n TEX © 7 ﬁ
(B e 3R 5= Saimes (D) 9 o~
AT
© maﬁtﬂm%"?”m (E) Question 1ot attempted 1 SrafE we
(D) HE= e
=
(E) ¥qafmwx I~ 4
(8 Who among the ﬁ}ilm\‘ing is the first Paralympix
o -
= 10 win two Pﬂ.mL\IIPpic Gold Medals?

103 Select the folk dancé of Rajasthan which is
oy
popular for cn':crla:i_:gncnl and raising sociu[-

155ues., {i‘.'i

1
Choose the mu{;:‘!appmpﬁarr answer from the
options given bdlaly:
Choose the most appropri \ 3
apprapriate answer from the, ] (A) Devendra Jhajharia
options given below:

(A) Kuchipudi [~ (B)  HarvindepSingh

[UKUI 1argragdar

] -~
(B) Garba :‘:: = (C)  Sumit z\nEL!
(C) Kathputli dande! (D) Nitesh Kdnar
; t Y|
(D) Giddha (N (E)  Question nat attempted

(E)  Question not dttémpted
TR & 30 16 Je7 1 w7 e it w

Pt %2 e o et & et a2t ot
Yureifiver wae <y

Ul

mmﬂﬁﬁw%%ﬂm%l b
ﬁnfaﬁaaﬁﬁq‘iﬁﬁﬁﬂfﬁa;mmgﬁ: mﬁﬁﬂﬁmmmﬁ:
(A Fhrgd E‘l (A) &awqﬁ

(B) Tanm (4 (B) mﬁm

(C) wageet (N
e ) © ghafgy]

(D) |
o
()  srgafewa (B) Frdr g

OPQ-X12 ] 3 ‘ ) eyl

22
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istricts of Rajasthan had

{08  Whichofthe following d
rding to the census

10 sho Ravanvandhan Singh Rathore, sportsperson .
the highest child sex ratia, acco

ol 20017
Choose the maosf apprapriate

wmad politician, exeellad in which sport ol

Wyrieete level?
Obapic level? answer from the

Chovs the mosr EPPROPITane Answer from the
i . options given below:
cofeas gnven below:
: (A)  Jodhpur
A Shoeoetinge

(3)  Jaipur

30 “I. Rew
& e (C)  Jhalawar

) g
W Loag Jump (D) Banswara
o Wallevhall (E)  Question not attempted
BV Question not attempted 301 1 ) FEAT S AT 7 1wl

. i S L o
ST TEEUS (wE USis = fewnel § gt =4 | Wmmﬁmﬁmﬁ-ﬁaﬁﬁﬂaﬁwmt

FEE TE S SanT w0 5 S NeTE (w1 8 ;-_? Frerfrfia famedl 3 § waifas 39gw™ T
Eioran (SN S S wIE 59 Ia g VDA] Syt

4

1

LAY mtx‘é‘e‘:-l \-\J (B) s

i R (C) =S

(€ EEEe ®) g
o (E) 3qaia ¥

Dy ImiEn

(B} Saoea 5= ¢ : : .
According to the census of 2011, which dismct

‘Taran

of Rajasthan has the highest urban literacy rate?

¥ imo [ 9 ‘hi
107 Accondinge to the census of 2011 which of the Cliciciie. th, st rpprapvine insves fod e

. . .. ¢ pe—
following dismicss of Rajasthan had 'Ibe TOWESE | options given below:
nirmal s=x rato? ; (A)  Barmer
Choos= the most gppropriate answer from the === (B)  Alwar
—
options given below: ped? (C)  Udaipur
t L

1A Jalore (B) Dholpur | »== (D) Kom
(Cy  Pali (D) Sikar wud (E)  Question not attempted
tE}  Question not attempted ' (- } 2011 H SR & SFER, T F waifae
2011 = ST ¥ SR TS & e A @ e mm“aﬁ“&w;ﬁq‘mw?
" 5t frafafas e ¥ 4 gaits =%
fee w7 s T Td =g un e 3 ST ST
v s . . (A) ETSHT
=Tatad fawesl § § Hafde U a0 I4:

(B) e
A)  =TER (B)  JEY
Cy s e e
{ D T

L (D) F=
(E) | 9N
- 3 (E) rqaf@ws
Ll N 3 -
X Ij 23 | Contd...
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110

Some frogs use which special plant’s pocket af
water for laying their cogs?

Choose the mnr[.qppmpn'nrr answer from the |
oplions given beliv:

(A) ann'ﬁmp

N
() Maediagarx ‘N'n'r'fu‘ﬁll I
(Chy

(m
()
mﬁ‘ﬁaﬂ%&%ﬁ%ﬁmﬁﬁnﬁqﬁ%mj
=T 34 F £ 0

Kofarrehon r‘??mmm
&N
o

Cli'f‘f".f

ﬁw%ﬁgaﬁmﬁﬁwaf&mmmm .

Question not anempied Spedig |l

(A) aﬁm%mg N

(B) Hermr=st

(©) aﬁrﬁqﬁ
Eo—

AT T~

(D)
N

(E)
Which one of lbeqfcllumng bul’l’alo brr:cds is
mainly found #NCalf Rearing Centre, Dau

Jhalawar, R.ajasﬂl%

Choose the meostppropriate answer from
options given below:

23

Who ameng the wllownine finsoos Raiasta—;
actor played ey impomant rmole in Natheeat
- - -
Awand winind flm “Paan Sineh Toqae—
Choose the mod ]
e the m&‘r gpprepaate answer from the

options given bejow:

(A Goverdhiah Asmani

(B Kiku St‘?l:.‘l.;ﬂ#

(T Kammwesr Choudhary
(D) Sahabjade Irfan Al Khan
(EY  Questic not attempied

- 5 Fhw o T
Pefafgas 3= FimRiEmm Jise T e e
k2

4 | P -
TR o lnEs
q‘ﬁr&qr{qﬁrm-.am-um#ﬁ-.

(A)  TirEds Eﬂfﬁ"—l
(B) s T
(C) s
(D) Hm‘:gim:am o=
(B) rafask

o

Which of the following is not a meason for
scarcin? =

WAtes

Choose the 7
the mosr arpruprigte answer from the

(A) Bhadawarf™ r_) '
(B) Jaffaraba N f Oplions given hejow::
(© Mchsanad:\n,]' L A Space Rarey
PG——— P (B)  Global \drming
(E)  Question noyattempted - :5 EE; Elst*: in qp.:?-ml:nicm
Frefafaa & & Y623 @ e L=y eforeiiion
- TE ¥y
RSN Wﬁuﬂmﬁﬁ%ﬂ =) Questiof o autempreg
Frerfafan freeq 4 & watfirs sogw N ﬁqqﬁm‘mq"ﬂ’ﬁmﬁmtwm a
(A) wEhs O ST foradi & 3 A
N (A) Sty S %mmﬁ:
B) s AT
©) fEEmm oy 8) %ﬁ??ﬁm
®) g (C) H?Fr@ﬁ}}aﬁ
(E)  srgefr s :;‘ T,
0PQ-X12 : ™
Rx2] 14y 1 el wy
| Contd...
—“______



114 Which ol the rl:lllu“'jnF n_tgiun:.' ol Rn_insllmn

116

orQ-xiz| ]

-shares its boundary with Pakistan?

Choose the masr nppm_&h‘,m' answer from the

A

cna"w'
|
(),

| I*ali

options given below:
(A
(Y
(Y Question nol attenypled

FefateEn 8 aesm s eaam & wifsam %
gy 91 Jta g s

Frfaian faeedt § & walfos soge sm

Churu hilwarn

Llikaner

(A FGF ()., Mfie=m
(C)  EIFER (). L1l |
(E) ¥l wy @) -
ol et
Which of the following fcmm-.: is located in the ;"HD
southern moslt pan Garj:l han? i::"
C‘homc the masr appmprfa.'r answer from the s '
options given below: -
: —t
(A)  Ajmer (B) Rajsamand )
{C)  Churu {[i\' Banswara :'u
{E}  Question not nncmptjt-d e

fafarEd 5 si4-61 aﬁ*tﬁvfan:rmmafiwﬁqm |
F = e ol [_
mﬁmnnmﬁammﬂq

117 Danjaras, # well-known

1d

118
(A) IR (B TerEHe - -
(C) IF (D)2 =taaETST —
(E) 3¥wiE 94 =
In which of the following'seasons Raikas (0llow  jesssd

cultivation practice in théirtife?
Choose the mosr upprﬂﬂfiﬂﬂ’ answer from the
options given below:

)
(A)  Winter C
(B} Throughout the yedd
(C) Monsoon
(D)  Summer O
(E)  Question not altenipied

TR w494 Siad B @ et § 9 fea wg o

Fa (oY

Freafafes fawedi i @ , TG I -
(A) @l (1, Fdw

(C) AEHA {m) DifLee]

(E) wrqaf@ gg

24

Tl

I

25

Gt

group of graziers were

found in the villages qfs .

Choose the most npﬁ?Jprf.«mf answer from the
o

aptions piven helaw: o)

Cion and Mahafashitra

(A)

(1) Karmataka and g.imi:l

(C) Rajasthan and (ilar Pradesh
(D)  Assam and Nagaland

(E)y  Question not npmptcd

TTATEl w0 W S A .
qmqqm,rﬂmﬂl N
ﬁn%ﬁaﬁﬁ&?mﬂﬁﬂaffmmaﬂfﬂ

(A) i SR

(B) H-ﬂiﬁaﬁtﬂﬂ?lo

(C) TweaH 3 I aET

(D) & 3T

() smafmmg O
o
™

Pa:‘;tﬂmIislsfshcpherd%imarily depend on which
of the following activtigs for their livelihood?
Choose the most appropriate answer from the

options given below: [™

(A) Animal Husha%

(B) Fishing Q]

(C)  Agriculiure ﬁ

(D) Industrial workl™

(E) Queslion not m%npled

&éﬁ%ﬁﬂfﬂ!&q@ﬁmn@mﬁm

smeifae & faw Frgipfas & & fee o fnkt
wa C’
freferiiaa foremedi § Eﬂ?ﬁﬂ'ﬁmm?ﬁ
(A) 9IuTER mn LERIRCTEC)
(C) T ap) siaifiEs w
(F) orafa wu
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Vijava Stambh (Chittorgarh, Rajasthan) is a 9

119 ist-1 wi ict-11 : 121
fateh List-1 with List-1 ol st e of:
List-1 1ist-11 Chonse the ot apprapriete answer from the
Ornaments Wenring Part aptions given helow:
a.  Thussi 1. Finger (A)  Only Black Stane
{11y Only Med Stane
B ok i (C) Red Sandstone and White Marhle
c. Daamna m.  Neck (D) Red Marble and White Sandstone
: H 1
d.  Jhaal V. Head ()  Question nol attemplec
o o xifaren favfeer fren = (e, mEea)
=11 = s st 1w faam it i )
- eft-11 Exeafafraa el § © Tt 3agm 270 T4
TR TEA T ;T . (A) e FEA T
o= 1 otpeh em il S
= "f”1 ~ (C) et AT AT AN W WA
b, =wen . F= CD‘D] AT HTE, A Tz AT 1A
e. w=Em m. e (E) A 1A
4 TS v, fw ~\J ' _
Choose the most appropriate answer from the 'u;! In which month the festival of Gangaur Is
. . pwd  organized?
epiidans preen DN - : ™ Choose the most appropriate answer from the
fﬁﬁqmﬁﬁﬁﬂﬁﬁwmﬂﬁ: W DPIiDnS‘ given below:
(A) a-TV.b-I,c-MI,d-1 . 3 {A) Baisakh (B) Shravan
s (C) Falgun (DY Chaitra
) s Pl eao=tv E (E) Question not attempted
(C) a-Lb-Mec-MI,d-IV o T & e =1 HETES RS o2 8 e 8
(D) 2-OLb-TV.c-Ld-TI . TererfTiae o § & waifires quges o =9
(E) Question not attemptcdf-ﬂﬂ?!ﬁ?l‘ﬂ (n) o (B) 2w
ety ©) wEE (D) ==
ped (E) SEfETT
120 ‘Mandana’ is a traditional folk art of : "_J
Choose the most appropriate answer from the ™73  ‘Talab-c-Shahi® lake is located in which of the
i iven bel e following regions of Rajasthan?
options given below: Choose the most appropriate answer from the
fAj Goa {B} Maharashtra ( up[ions L:i\'cn below:
(C) Rajasthan (D) Kerala (A)  Jaipur (B) Dholpur
C)  Udai c
(E) Question nol attempled (©) mp‘ur (D) Kota
. . : 5 (E)  Question not attempted
STAT I WO O ) B Fresfafaa & & e & & gom @ aemE-
Frferfan fased & @ maffis suges am gi; e i e
(A) T (B) werT - Frefafera fased § @ waifies sogm 3T
. (A) AT (By W9
(C) wremam & e
) (D) F@H (€) 7 s
(B) egehorws (L) sefe s
OPQ-
Q J';IZ_I D 26 . | Contd...
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p Ol Vaten mosaset e o ot sentme of
what el Ballow g sdates
Do N oy eopdtpriene answet Ui the
ST W Belom
h
A AR Pt wesd Baiasthan
Y My I‘::h'\x\_'.u-.l Giuracat
N
WY Raeehane and \nEst
DY Hamesa and Radaahan
VPQuemen mat anetipied
.
= = & 3 .
SRR b S |‘==<lt'll\;\‘ ":. ‘} ﬁ‘? “"‘ﬁ w
=== o
= .q“wﬁ?ﬁ"mmlﬁ
e == \-51 -“-L-'l umn
oy
Bl TIRRIm ‘-q'\'aﬁtv\.
e
L At T R IT :‘-_\‘.\lﬁ
M b'-\" =Y :“1‘?'.-\— ST
\Ei == T"-T\E ey k?._‘i
= (-
C\'
13 Ressshia Gokd MisSin' is associated with:
(Y
Choos B¢ mew eppyupricte tnswer from the
opfioss shven belon: &
(A) Alizitey of Finanee
(BY - AMinismy of Fisgirs. Animal Husbandry
~
ad Dainving &
. (@]
) NMizisoy ufMSP‘E
(D) MinisnoMWondeg and Child Developmient
13

: s
Question not JHEJFK"-‘
T T e fam aw

— -

Wﬁwﬁﬁﬁﬁpﬁmmﬁmgﬁ
A fmesmem N

(B) :mqmtrqv{%muﬁﬂm
(€) 3w TF § HaR|

D) q&mmmwm

E)  refe g%

OPQ-x12) m

; o d
What i< the least number which should be adde

126 _
o 2028 so that the resulting number 15 exactly
divisible by 3L "'lll‘lil o!

N AE R (] tmfl Wi ticen Ardy @ abs
uftomsh W 3,8 Ao i fm T
(A8 T
(i 2 g A7
() Question notatempted / Jﬁﬂﬁ'ﬁ ou

127 What is the Rm.'.llét-l' five digit number which is

=

fct'vull\ divisible h?' lﬁ 20 and 247

>t ) TR U wEm & 16, 20 T 24 F

c :ﬁm%: "4

sk M

Clo() 10060 ; (B) 10080

() 10160 i3 (DY 10800

o .

I,...._..{E] Question not attempted / aﬁﬁ'ﬁ? e

:\J I~

(3 " -

1 Determine the ""*"E':‘i““m possible length of the

planks that can be cul from three picces of timber

measuring 4.2 m, 89 m and 6.3 m, all of which
should be of -.qu::l Ielnl.th
e I T mﬁ:m'mw T T e, Tf
e 3.2, 4.9 70, 3 6.3 ¥ < Tt 35 e v
\/'anmﬁ%atﬁiﬁmm%
prd (A) ﬁ'h.m(ﬂﬂh""! (B) 70 cm (€W

¢ D) 4"cmﬁhfr‘| ‘1 (DY 36 cm (W)
——
et (B) - Question not'uttempted / TG w30
™
o

A shopkeeper purghnses some apples at 41 for
T 100. How many apples for T 60 should be sold
Lo gain (4%

IIZH}

1*\.

U EETRT A 0 69 T 100 ¥ 41 F Wi ¥ i
meammniﬁ:: T 60 % Frry T
e

N
(A) 14 N (13
©) 12 ::"i ) 13
()  Question nul-;lllttilptcd / Hﬁ!fl?r bt
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TS

Ll %‘-l*
& g 8
hetween two candidates, 20y

.':_l\:.i‘;" s clection
pr [RRIL ! X
130 On selling nn aricle for T 230, 1 "l"‘”’:fg!’“w“ \'[If{‘r-'“lill ot ensl fheir votes nnd 120 vates Wereg |
np, What is his profit of 1088 i . winner gets 75%
S R I“.. " llf:‘zl;:lji‘«. dechred invalid. If the wmnt"l-c 8 of the |
percentage i he sells the same article for v e 11d vnies el wins hy n margin ol 1800 voles, |
(A 10% prolil —} i find the numbher of vaters in the voting liy,
e i >
3y 2%aloss —— a -;ruﬂﬂmﬁ 2y #lys1 R AT " Zﬂ%- Rapnie ER
(€} 5% peofi b s vz T ST AT 120702 st ife Frmy
(D) 77 loss (/] P oy v 71 75% Ferer & sfim 1809
() Question not attempted |} M#mﬂ ol mﬁ.ﬁm‘ﬁﬂﬁmﬂ "
T Feg T T 230 F A T FEAAN 1§45 T
: rarls <6 et A T
v e 81 ARt aw W e A T 20 H A h_. R
g Eny AT e i y c-.a (A) 4650
St (D) 4590
e \ (C) 4500
(A) 1Dt ’ tb
(B) 1n53$m-q M (E) Question not attempted ,'SEWSTH
- ﬂ‘
(€) SwEm - hi
(D) 7% IFAH <%l 434  Onsimple interest a certain sum becomes T 9300 .
(E) i ws in 3 years and ¥ 10, 500 in 5 years. The principal |

sum (in %) is:

T STer qT ek e i 3 aat § T 9300 H
saai & T 10,500 B el R A e vfer (T )

(A) 7500 (B) 7800

(C) 7000 (D) 7200

131 A shopkeeper gives a discount of 8% to~
customers and still gains 20%. What is the mar
price of the article whose cost price is T 4607
T TR ¥ 3T R ¥ 8% g2 & i

7 20% 1 S FHR I ] F S T d (E)  Question not attempted / 3T I
& s aa g T 460 &7 g o
Ay Tan @) T35 1 -f35 In how many years a certain sum of money will
(©) T600 (D) T660 b
"'3 become four limes of itself on simple interest at a
(E)  Question not attempted / 3Tt w41 " rate of 20% per annum?
; | (A) 15 Yenrs B) 20V
132 Find o single discount equivalent lo successive (C) 10 Yen ( e
; s 2
discounts of 10%, 20% and 25%. () Questio ®) R ¥enrs
g I

10%, 20% 31t 25% o 7 fiven (32 & e Tt ge e h not attempted
a6 e @ Ffim wrifir 2004 gramor it

=T ;
(A) 46% (B)  48% A wwfw T 8 S

A
(C) 55% ; (D) s54% WIS (D) 2099

2
(E) Question nm""cmmfd"ﬂﬂiﬁﬂua (C) 10 (D) 12

(B) orafmy

OPQ-X12 N
I 28
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a6 Which of the Tollowing National parks is sitonted

in Rajasthan?

Choose the mest appropriafe mswer from the

. i jtaram
(A4 Which mavement was (cd by Sadhu 5

Das?

; . the
Choose the prest appropriafe answer from

aptions given helow:

options given below: (A)  DBhagat
(A Keoladev () Kazirangn (1) Non-cooperation
(©)  Bandipur (1) Sant Ghati (C)  Bijolia
(1) Question not aflempled (D) Shekhawali
Rl §  wa-m uha U Terer (I5)  Question not atlempted
¢ o o o e
St e 4 4 o v s | Crferfiaa faepedi 5 4 Fraifiras 3agH I L7
W wEeRa @ s off
(€)= (D) waud c(j{ci -
(B)  S¥gafE ws (D) TramETrd
(

In 1800 A.D.. the first person lo call present

Rajasthan region Rajputana was

Choose the most appropriate answer from the

options given below:

Kullaran

E) mjﬂfﬁ‘l )

In western Rajasthan hot dry and dusty winds

start blowing in summers which are known as

{(A) Hacken Choose the most appropriate answer from the
(B) Allchin options given bc!ow:
(C)  George Thomas ‘ p— :g: [I':"lﬂ:nsocn winds
(D) James Tod ;_) .
_ i (C)  Kaal Vaishakh
{E) Question not altempled : (D) Mavath
mun;‘n’d’tﬁm%maﬁmﬂ%mﬁ - (E)  Question not attempted
¥ i al aferft Trerere & ey w6 § O S OE
frefefea fased § & wafftres sagm 3w 4 g, el Y Bt & S el €
T ot fraest ¥ & waffes 397w 3T
(B) sfiefaa MEHSESL
(C) = 9mw (B) R e
© e ) e
(E)  3vifta 94 () arafa wy
OoPQ-X12] D 20 | Contd...
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140 Which of the following river in Rajnsthan is not | 143 Which onc of the following lalian honey hee

associated with the Bay of Bengal drainage varicty 18 associnted with increase in yicld of
system? oneyT [~

(]
Choose the most afiprapriare answer from the he most ‘E;pmprhrrr answer from (he

. . ™ Chonse
options piven below?!

options given beloiv]

(.!:} Banas (4B)  Banganga A) A, cerana Cl () A florac
{C)} Chambal cdDY  Luni " (D} A. dorsata
(E)  Question not gltempted ) A mellifera,| -
T i i o @ i T ey )y @) TR () Question ndt-atempted
ﬁnﬁf@aﬁﬁﬁﬁﬁwaﬁhm@mgﬁ: ;—m#ﬂﬁﬁmﬁfﬁm?ﬂ
(A T E:{B) o C0 frefifiat foreti g9 Farffires Swg e 37 43
(C) == D) e o=, Fr O (B) T
(E) sfaws O : VD‘} g & ol Sy
o _ “\J ™
141 Which of the following animal product contains = (E) aﬁﬂ‘flﬁ T4 (]
the highest amount (s{nutrients) of protein? o o
Choose the most afipropriate answer from the t“ %2 The ratio of the present ages of Pand Qis 5: 7. If
options given t_)elow: F— Qis 4 years oldefThan P, then what will be the
i ~(B t P'U
g F['.:‘h -1 T u " | ratio of their ages after 4 years?
(C) Milk (Cow) TYD) Egg

(E) Question not Stibmpted 'L—‘paﬂmﬁraﬁmﬁmﬁmaﬂmﬁﬁ%wﬁq_p

mm(,amaaz?@‘-\;%v - £ N o
8 ST d(#\) D O @B) 4:5

(A) Cp) =@ (1) .7 i T Gl

(C) W) () o= = - .

(E) Fai@wd [~ I,t...J (E)  Questionn ({;}lttempted!mﬁﬁﬂg S

4 Yo o

142 Which of the following animal product contains | 145) A sum of ¥ 2400 Hivided between A and B is

the highest amount @'Ur nutrients) of fat? O such a way that %::iol' A's share and % of B's
Choose the most af;:{aprfn:c answer (rom the h

share are equal. Tidkhare of B is:
options given belowpyJ

T 2400 Y A 3 5% o gm wwR A s & 6

(A) Egg ((B) Meat 4 2

(C) Fish (D) Milk (Cow) A 5 fewm, B & 5 feredi o sto 1 B fe

(E) Question not Tupmplcd Lo El

ﬁ%ﬂqﬁﬂﬁmﬁﬂmnmﬁﬁtmﬁm (A) 480 o

TP (3 v ) NG @) Tsoo O

frafafaq vaﬂ?ﬁﬁﬂhﬂ‘fﬁm’:ﬂgﬁmﬂi, S e Y

(A) 3fEr DJ(B} angﬂg) {C) <960 o

(C) woeh E:I?D) g4 () (D) Tiddo

(E) sgafmwg ' ()  Question ndtdtempted / 3rfe w2t
OPQ-X12] D 30 [ Contd...
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146

148

OPQ-X12) .

What number should be subtracted  rom eneh of
numbers G, B 12 mnd 20, so that the resulting
numbers are in proportion?

6. 8, 12 3 20 vEIw 3 A )3 den merd =)
nfi, e aftomdt veemd g 3 o

(AY 3

(m 1
Cy. 2
(m 4

(1) Question nol attempled Hﬂ'j?fftﬁ oy

Where i the ‘Tripura Sundari Temple” in
Rajasthan located?

Choose the most appropriafe answer from the
options given below:

{A) Sikar (B) Bikaner

(Cy Banswara (D) Churu

(E}  Question not attempled

o e Siew T F Wl frera @
Frfeiaa famedl § § Faffae I9gw o 94

(A) H=E (B) &t
(C) wamsr (D) TEF
(E) i g

1

Gogaji’s (a folk deity in Rajasthan) father’s name
Wast
Choose the most appropriate answer from the
aptions given below: .

(A) Aran Singh  (B) Surjan Singh
(C) Bachehal Singh (D)  Zewar Singh
(E)  Question not attempied

T (e § U i 2adr) & faare &
qr:

Frefafaa faedi § 4 waffie sogw sacgd:

(A) o fiw (B) g fe
(C) e fae (1) A fue

(E) waftaan

..,

30

= ml

urukuk Tarana

G

149 Who was the first woman from Rajasthan to be

arrested  during  the  freedom movement 10

Iajnsthan?
Choose the sest appropriofe answer from the
aptions given below:

(AY Janki Devi Mandey

() Anjna Devi Choudhary

(C)  Sila Devi

(0} Durgavati Devi

I

() Question not attempted

CU T 1 T ST % 2 T e AT

thﬁmmﬁ wu Hfgen @1 off?
frefefaa faeredi § & waffarss suge 390 T
(A) S F 97
(B) 3
(cy Haredt
(D) gotadt
(E) oFFafewd

Which constituent of Henna dve forms a red
colored compound upon exposure to air or
sunlight?
- Choose the maost appropriate answer from the
options given below:

(A) Lawsone

(B)  Ammonium Chloride

(C) Quinone

(D) Nephthogquinone

(E) Question not attempted

1T {orehi &1 -1 Taeesh ary 41§l & W
wydi 1 11 9T e o7 R DT T ¥

ﬁaﬁfﬁlﬂﬁwﬁﬁ%mﬂﬁmw_@'miﬁ:
(A) @ () i s
) fFram (D) AfFEEE

() refw wur
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